| 200 1 19\ [ o YO

0. M. R. Serial No.

Question Booklet Number

M. Sc. (Ag.) Agricultural Extension
(First Semester) EXAMINATION, 2021-22

DIFFUSION AND ADAPTATION OF INNOVATIONS

Paper Code

EXT 5013

Time : 1:30 Hours |

Instructions to the Examinee :
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Do not open the booklet unless you are

asked to do so.

The booklet
Examinee is required to answer any 50
OMR Answer-Sheet
provided and not in the question booklet. If

contains 60 questions.

questions in the

more than 50 questions are attempted by
student, then the first attempted 50
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All questions carry equal marks.
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(A) 1 fdOR

(B) TR fagR
(C) 3rdIPR f[daR
(D) URFRG fdaR

(A) R
(B) fafer
(C) Hfsha

(D) &HNT

(A) % fafr
(B) U& uihar
(C) U afdd
(D) TP Se¥d

EXT-5013

Innovation is a/an :
(A) New Idea
(B) Old Idea
(C) Rejected Idea

(D) Traditional Idea

Adoption is a/an :
(A) Idea

(B) Method

(C) Process

(D) Society

The last stage of adoption process is :
(A) Trial

(B) Evaluation

(C) Decision

(D) Adoption

Adopter is a/an :

(A) Method
(B) Process
(C) Person

(D) Obijective

Set-A



5. AR 3ifYe SUIR gldl & 99 U8 @ 5. Innovation is more useful when it is :

(A) Sifed (A) Complex
(B) ¥Rdl (B) Simple
(©) (A) T (B) (C) Both (A) and (B)
(D) T (A) T & (B) (D) Neither (A) nor (B)
6.  AMITEYT UlHAT BT JH W B 6.  First stage of adoption process is :
(A) wiem (A) Trial
(B) HeATh (B) Evaluation
(C) U (C) Adoption
(D) SIRTEa (D) Awareness
7. TOWRY &1 arE died foar o 7. Classical model of diffusion was given by :
(A) RiE 1@ IR@ g™ (A) Singh and Pareek
(B) I U4 YHER GRI (B) Rogers and Shoemaker
(C) fawd vd AT gNT (C) Wilson and Gallup
(D) I TG IRN N (D) Rayon and Grossee
8. MGl H WMMITAT JRRME! U O @ 8. Innovators are generally found in society
in :
(A) BT F= H (A) Large number
(B) @B =T H (B) Few number
(C) 95 TSI |=T H (C) Mass in number
(D) I3 (U 4l -7&) (D) Zero in number

EXT-5013 (4) Set-A



9. IR # Wfcerdr g ¢ 9.  Complexity in innovation is :

(A) HTDI 3BT (A) Better thing
(B) 37Ol (B) Good thing
(C) (C) Simple thing
(D) difed (D) Difficult thing

10. /9 FdR 7 gRumE fewr) <dr ?r’ ar 10.  When result of an innovation is visible, it

sﬁfﬁ?{%' is called :

(A) Sifcerd (A) Complexity
(B) YaIAN (B) Predictability
(C) 3@AIHA (C) Observability
(D) RIefOr (D) Trialability

11. U ufshar &1 9o RO ‘Rig’ gNT 11. First stage of adoption process by Singh

fem T2 % s

(A) ®fd (A) Interest
(B) SINT&Hal (B) Awareness
(C) STaTIHdl (C) Need
(D) Ui (D) Evaluation

EXT-5013 (5) Set-A



12.

13.

14.

W9 dlg Aled u e wR
Hgelier A B ot Hfd TR § F
T PR 8, o I P B

(A) 3TaZIH

(B) TRIefOT

(C) TeA®

(D) fvfg

Ugell IR b qarn & Ao ufhar
H 3Fd IR B © ?

(A) faedf

(B) o

(C) g Ud urA

(D) AR

SAORIEYT Yfchar b fgefi =R @
(A)  WIefor

(B) 3MaeIHAl

(C) 3fu

(D) SRR

EXT-5013

(6)

12.

13.

14.

When an individual applies the practice

on a limited scale to observe the

performance is called :

(A) Need

(B) Trial
Evaluation

(©)

Decision

(D)

Who had first recognized that adoption of

a new idea consisted of many stages ?

(A)  Wilkening

(B) Rogers

(C) Ryan and Grossee

(D) Shoemaker

Second stage of adoption process is :

(A) Trial

(B) Need
Interest

(©)

(D) Adoption

Set-A



15. RIS UfshaT H Hol AR B T 15. Total number of stages in adoption

process is :
(A) o (A) Three
(B) TR (B) Four
(C) UM (C) Five
D) © (D) Six
16.  STATE 6T fcrerd gldr @ ¢ 16. Percentage of innovators is :
(A) 15 Ffaed (A) 1.5 percent
(B) 25 HfuRrd (B) 2.5 percent
(C) 35 Jfuerd (C) 3.5 percent
(D) 135 WfaRrd (D) 13.5 percent

17. f=foRad # ¥ o9-9 a9 9 verwH 17.  Which of the following scientists had

séwaﬁﬁ R e 2 developed Adoption Index ?
(A) I (1965) (A) Bose (1965)

(B) X (1967) (B) Ray (1967)

(C) TEUrATg (1963) (C) Chattopadhyay (1963)
(D) Sugad FI (D) All of the above

EXT-5013 (7) Set-A



18. O-fdorg 2 18.

(A) TH qY BT Uiehar
(B) < a9 @I ufgham
(C) U 99 @I ufgen

(D) SR @I gfshar

19. VS BT 2 : 19.

(A) Srgard

(B) e
(C) Hcrr

(D) SWad # | BIg T2

20. URRfAT & 9 ¥ @ & ufhar &1 20.

e T

(A) T@

(B) & (arfeTH)
(C) A

(D) ey

EXT-5013 (8)

Self-developmentis a:

(A)

(B)

(©)

(D)

One-year process

Two-year process

Five-year process

Life-long process

Adoption quotient is a/an :

(A)

(B)

(©)

(D)

Ratio

Addition

Subtraction

None of the above

It is a process of arranging situation :

(A)

(B)

(©)

(D)

Elements

Learning

Teaching

Adoption

Set-A



21.

22.

23.

24,

QRIS TG Bl ST g 2
(A) 3T AT
(B) wifed T &
(C) W W |
(D) W9 W ¥

yfirgfe v ufd SR ©
(A)  SARTET UfshaT I
(B) fvig ufseam &

(C) @R Ufshar &

(D) STda # & Big AL
fhsferdl, gol a1 e &
(A) AT Tdl o

(B) 3JEATIT Tl I

(C) aR Tl @I

(D) MG d<al &

UM B T3 {5 B TR BT, SR 2

ye3e @
FAIR BT
STRRIYT

IR 6T

(A)
(B)
(©)
(D)

EXT-5013

(9)

21.

22.

23.

24,

The word ‘Extension’ is derived from :

(A) English language

(B)

Latin language

(9

Greek language

(D)

French language

Feedback is the response of :

(A) Adoption process

(B)

Decision process

(®)

Communication process

None of the above

(D)

Fidelity is the faithful performance of :

(A) Adoption elements

(B)

Teaching elements

Communication elements

(©)

Social elements

(D)

To release a new variety of paddy is an

example of :
(A)
(B)
(©)
(D)

Demonstration
Innovation
Adoption

Communication

Set-A



25. T fouRl & SfSUe # o §9 W&dr 25. Earlier in adopting new ideas is called :

PEA B -
(A) HdR (A) Communication
(B) 3iferrgu (B) Adoption
(C) AT (C) Innovativeness
(D) fawRur (D) Diffusion
26. g UTE @1 gfoRId B 26. The percentage of early adopters is :
(A) 135 Ffaerd (A) 13.5 percent
(B) 340 Wiz (B) 34.0 percent
(C) 500 HfaRrd (C) 50.0 percent
(D) 60.0 HfaRd (D) 60.0 percent

27. JAMSIS SAC TG HaRN @ fawRv, 27. Diffusion of non-profit products and

Y services is related with :
(A) KA TR A (A) Personal marketing
(B) ATHINI® STOIRIGROT A (B) Social marketing
(C) VST TOIRIGRI | (C) National marketing
(D) IR ORIGRYT A (D) International marketing
28. AfITEI R FHT B 28. Rate of adoption belongs to the :
(A) AR BT mufdie T | (A) Relative speed of adoption
(B) foR @} e fy & (B) Relative speed of diffusion
(C) WOR @I JMuferd T ¥ (C) Relative speed of communication
(D) SUYa H A Bl 7l (D) None of the above

EXT-5013 (10) Set-A



29.

30.

31.

32.

EXT-5013

W9 B Afed Ta@R BT YT B ot & 29.

dl 99 Bed §

(A) e SfaRel

(B) iy araven

(C) PRI 3Fave
(D) 3rf~H o arawen

FAAR-f0R SRl TR § 30.

(A) AR & T |
(B) I B! AW ¥
(C) WaR & T4 A
(D) foRRo @F fa ¥

TIER ¢ 31.

(A) dHID
(B) HIdE
(C) HTIIA

(D) SWF ¥ 4§ DIE T

ECIE AR CEL IR 32.

(A) &IH <

(B) HeATHT BRAT
(C) RIId o™

(D) Sugad FI

(11)

When an individual puts an innovation in
to use is called :

(A) Persuation stage

(B) Decision stage

(C) Implementation stage

(D) Conformation stage

Innovation decision period is related with :

(A) Speed of adoption
(B) Length of time
(C) Speed of communication

(D) Speed of diffusion

Innovation is :

(A) Technology
(B) Psychology
(C) Sociology

(D) None of the above

It is a perceived attributes of innovation :
(A) Attention

(B) Evaluation

(C) Relative advantage

(D) All of the above

Set-A



33.

34.

35.

36.

EXT-5013

SARYET Yfehar bl IR JFeRer & -
(A)  WIefoT

(B) e

(C) T

(D) W A W I T

T (1965) & STAR SRSV &I Ufshar #
B AT G
() T
(B) UM
(C) 9

(D)

I8 3 forgd Jfdd TaeR & fawyg

STe] W ATET SAMSRI el &

(A) 3MaeIHdl

(B) TIefUr

(C) 3fu

(D) AT

arferrgr ferar @ el araen €
(A) 3iferEy

(B) TIefur

(C) HeAHA
(D) fd

(12)

33.

34.

35.

36.

Third stage of adoption process is :
(A)  Trial

(B) Evaluation

(C) Adoption

(D) None of the above

According to Singh (1965), stages of
adoption process are :

(A) Three

(B) Five

(C) Seven

(D) Nine

It is the stage that individual tries to know

more about the innovation :
(A) Need

(B) Trial

(C) Interest

(D) Adoption

Fourth stage of adoption process is :
(A) Adoption

(B) Trial

(C) Evaluation

(D) Interest

Set-A



37.

38.

39.

59 By Afdd T AR B @R @

&FAT ¥ ST HRaT B, O 99 BEd &

(A) SITTRGAT ARl
(B) HeAThT 3ravel
(C) TRIETUT 3raveq

(D) A 3raRel

JaraR-fofg ufshar o1 g awor 2

(A) TS JFavel
CIEREER
(C) fAvfy arazen
(D) HRAFIIT 3Fa=e

59 By Afdd, B FaAIR $ 7B &

SHANT &R & 918 JIhd PR ol o,

oY BEd §

(A) W

(B) ITAIBR BT
(C) & T
(D) fofg o

EXT-5013

(13)

37.

38.

39.

The individual uses the new idea

continuously on a full scale is called :

(A) Awareness stage

(B) Evaluation stage

(C) Trial stage

(D) Adoption stage

First stage of innovation decision process
is :

(A) Persuation stage

(B) Knowledge stage

(C) Decision stage

(D) Implementation stage

When an individual decides to reject an

innovation after having previously

adopted it, called :

(A) Dissonance
(B) Rejection
(C) Discontinuance

(D) Decision

Set-A



40. 3w U BT 31 ? 40. Overadoption means :

(A) STH TR (A) Good adoption

(B) 3fcY JIRRIEY (B) Minimum adoption
(C) Sfa ez (C) Optimum adoption
(D) 3fcr-31feRIgo (D) Excessive adoption

41. ¢ 99 Bd € 9 W fRRi 9 ugd 41. They are venturesome and first to adopt

TEU HY & - new idea -

(A o (A) Leggards

(B) fder sgdE® (B) Late Majority

(C) 3Tl (C) Innovators

(D) SWE ¥ | TS el (D) None of the above
42. SAMER-FOR gfhar § fgdR =R g 42. Second stage of innovation decision

process is :

(A) BRI (A) Implementation

(B) UrcHTEA (B) Persuation

(C) M (C) Knowledge

(D) fvia (D) Decision
43. oS (hesel) @ ufoRmd & 43.  Percentage of Laggards is :

(A) 80 Ffoerd (A) 8.0 percent

(B) 16.0 iR (B) 16.0 percent

(C) 340 yfaerd (C) 34.0 percent

(D) SUYa H A Bl 7l (D) None of the above

EXT-5013 (14) Set-A



44, W9 B3 A TIER B WHR AT 44. When an individual adopts or rejects the

IRAPR BT B a I R BEaTal innovation is called the stage of :
2
(A) BRI (A) Rejection
(B) fvf (B) Decision
(C) WIET (C) Persuation
(D) 3ff~H fora (D) Confirmation
45, W9 By TIER AU g T ol 45. When an innovation is perceived as
9T & a1 S Ped £ consistent with existing value is called :
(A) I Iy (A) Triability
(B) ifcerd (B) Complexity
(C) SUYdddr (C) Compatibility
(D) \HRIT o™ (D) Relative advantage
46. 3TV © 46. Adoptionisa:
(A) Th B (A) Function
(B) TH vl (B) Decision
(C) Td Y=+ (C) Question
(D) TUF Wcg (D) Suspension

47. TMEINTG @Fqem ¥ e & 7, o9 47. When an innovation is communicated

TIER B §OR 9 & gR1 ORE fear through the channel over time among the
number of social system is called :

ST 2, 7 99 Ped & ¢

(A) SRR (A) Adoption
(B) TR (B) Function
(C) fawRu (C) Diffusion
(D) vl (D) Decision

EXT-5013 (15) Set-A



48. W9 PIs Afed fodl T ARl & v o

AARYD TfshaT A IOl &, A I 7aRel

Pl BB & :
(A) 3fd
(B) 3TMaTIdA
(C) WIefor

(D) HeAId

49. oIC HGIRS! ([Tl ageede) ol gfed ¢ -

(A) 1350 Hfaerd
(B) 34.00 Wfd3rd
(C) 16.00 ¥faerd

(D) 36.00 Hfaerd

50. “arR AR ufhar o1 AR aROT R

(A) =M
(B) UrwTEd
() 3if< v

(D) vl

EXT-5013

(16)

48.

49.

50.

The stage when individual makes mental

application of a new idea is called :

(A) Interest

(B) Need

(C) Trial

(D) Evaluation

Percentage of late majority is :

(A) 13.50 percent

(B) 34.00 percent

(C) 16.00 percent

(D) 36.00 percent

Third stage of innovation

process is :

(A) Knowledge

(B) Persuation

(C) Confirmation

(D) Decision

decision

Set-A



51. a—ijﬁz—r[ JRAT B ERM Bl Afdd, 374 51. Throughout the confirmation stage an

N individual seeks to avoid :
(A)  Heridr (A) Acceptance
(B) H¥Q (B) Dissonance
(C) SR (C) Rejection
(D) Sugad H | BIg el (D) None of the above
52. O ORI W el fiwd € 52.  They are viewed as deviants by others :
(A o (A) Laggards
(B) ¥ UTe! (B) Early adopters
(C) iy gad (C) Early Majority
(D) SRR (D) Innovators

53. d URAR® Bd & a7 fhdl Ja@R Bl 53. They are traditional and the last to adopt

T ¥ TRV a an innovation :

(A) STETH! (A) Innovators
() fUes (B) Laggards

(C) iy IgH=gd (C) Early majority
(D) fdorm =TS (D) Late majority

EXT-5013 (17) Set-A



54, UGl °W] T © fb fRAM N1 W 54. It is evident that more frequent

yfeifrar <ot ol @ o9 9 B9 participation of the farmers lead when
they are :
(A) THM S ARET § (A) Homogeneous caste structure
(B) URHITT e - (B) Well defined leadership
©) e N (C) Economically sound
(D) Sugad FHI (D) Al of the above
55. I8 AR @ AR $I gerd & 55. It leads diffusion of an innovation :
(A) 2y G (A) Audio aids
(B) S=T WAMEA (B) Visual aids
(C) HY-gRY WM™ (C) Audio-visual aids
(D) Sugad Fl (D) All of the above
56. FATIR-fToTT YfehaT BT Uredl oROT R 56. Fifth stage of innovation decision process
IS :
(A) T (A) Persuation
(B) ol (B) Decision
(C) rIaad (C) Implementation
(D) 3rf~H fora (D) Confirmation
57. ARG AR, I AT © 57. Overadoption produces :
(A) gIIHD g9 (A) Positive effect
(B) PRIHD UHIG (B) Negative effect
(C) fIprTH® g (C) Progressive effect
(D) SUYa H A Bl 7l (D) None of the above

EXT-5013 (18) Set-A



58.

59.

60.

EXT-5013

YU () SR, TAER ¥ T
TR a1 e ol 2| 98

(A) T H

(B) fauer #

(C) difea

(D) THRIHD

4T (1965) @ STAR MU UlhaT BT
T T B

(A) W

(B) TeDT

(C) Arg-wE

(D) 3iferyEor

ST Ud gaR (1955) @ SR g
yfeha # foae =_or e © ?

(A)
(B)

4 0T

(©)

ﬁc-

(D)

(19)

58.

59.

60.

Persuation stage develops an attitude
towards innovation that is :

(A) Favorable

(B) Unfavorable

(C) Complex

(D) Negative

According to Singh (1965) fourth step of
adoption process is :

(A) Trial

(B) Evaluation

(C) Deliberation

(D) Adoption

According to Johnson and Haver (1955),

How many steps are involved in decision-

making process ?
(A) Two

(B) Three

(C) Four

(D) Five

Set-A



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

4, YE-YRAH H U W & IR GRIAT IR—
A, B,CTd D& | Wendi & S IR fddedi # 9
TP FE FE T GeH SHE SR Bl © |
IR Bl OMR NRR-e § Fid go dwar §
e JR WA 2
SRR
'EL
1 @ © O
w2 (A ® O
w3 D @ © ©
G IR AT WY TR = plel I7 987 T
2, T T | ST R A7 T, S R IR
feam S |

5. UAP UM B b GEM & AP fordd SR
e B, I B AR 3P YIM b SR |

6. T SR dad 3l TH. 3R, SR-U5F (OMR
Answer Sheet) R 8 A 99 2| SRS |
fRgiRd Yo & 3remar 3 del W foar wan
IR A=Y 8] 81|

7. il TH. 3R. STR-U5& (OMR Answer Sheet)
B W foras 9 @ I oI W W et @
WYY Ue fora S |

8. WIeT 9Ud & ST Wt der fRierd @
3T OMR Answer Sheet SUTE XM & I
B WeT B W W By | weneff oo ey
TE-QRAHT o S A ¢ |

9. fanfeq mfeT = 2|

10. @15 A WG BR, YH-YRAdE & 3 H, WH-IR
& forv fou @reh o W & far o =iy |

11, UE-%e ¥ dN-ga, deldeicy, Yok a2l Heger
B o ST T SHBT START BRAT afoid 8 |

12. 9 & B U9 UG WURRY § A=1ar g9 &
T H YT BT U WURYT & A BT |

Fecaqul  YEIYRKIT Wiel W Y Wi PR ol o
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